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Description
Q.1 Who considered childhood experiences to be very important in the development of our personality?

S1Q UL A (Scdcdetl [A51HMI AASI0e1L Wef@dle Wol HEcdedl AL B?

Question ID:

Marks 1 10104799

No Options Details Correct Option

1 | Wundt qo

2 | Watson dleyet

3 | Freud 5165 v

4 | Maslow EYC]]

Q.2 A much-feared outcome of Alzheimer's disease is

WEBLOUR A2lef WS VoL % HYlels URKIH &

Question ID:

Marks 1 10104800

No Options Details Correct Option

1 | functional psychosis. SIALHS Yetllas(d.

2 | Paranoia. ULedlepl,

3 | general paresis. Al UL

4 | senile dementia. qeglaell [SHRL L. v

Q.3 The correlation between creativity and intelligence is

Ut LHSAL w 6ffeg, A o) Usoin Sly 8.

Question ID:

Marks 1 10104801

No Options Details Correct Option

1 More dy

2 | Less u|e9]

3 | Rectangular qoislelly v

4 | Zero 2l




Q4 If a hand touches a hot object, the hand immediately retracts. Who controls such reflex actions?

JRH ULl sle 1SS| U dl d2d o 12l ULed) WALE ot B, Bic] UlA(EH (5A14lo] (1AL Slotl gl L

Question ID:
Marks 1 10104802
No Options Details Correct Option
1 | Thalamus ayy
2 | Cerebral cortex H[dds 91e
3 | Cerebrum allef HII%
4 | Spinal cord 55y v
Q.5 What does Freud call the psychic energy of sexual instinct?
ol g(ctefl Hist s Glonlal 51655 9 58 B?
Question ID:
Marks 1 10104803
No Options Details Correct Option
1 | Oedipus w|sluy
2 | Electra gasel
31U S
4 | Libido [efws) v
Q.6 The need for money is an example of a motivation.
ol 1QLLefl RAULd A UR0Qle GelerRU B
Question ID:
Marks 1 10104804
No Options Details Correct Option
1 | Primary s
2 | Acquired (learned) v [d (llwRlg) v
3 | Innate FoH%uld
4 | Spontaneous (instinctive) AU R (UE%)
Q.7 What is it called when new learning or experiences interfere with our ability to recall previously stored
information?

WG AAUled s3] Hiledla Ale sclle(l A UGI 2 (SAUi viq (AL 5 ef@ic] WY e ol d A f 5&

Question ID:
Marks 1 10104805
No Options Details Correct Option
1 | Pre-action inhibition yd[sdl AdRlY v
2 | After-action inhibition Wej[sUL WY
3 | Reaction inhibition Uld[sul xdr]y
4 | Remembrance inhibition ¥ [dsAl waR]Y




Q.8 What is the amnesia caused by drinking alcohol for several days called?

elQll [ed] Yl 21 Adeia 1] Vel aAdl ¥[ddlu A ] 5& B?

Question ID:
Marks 1 10104806
No Options Details Correct Option
1 | Korsakoff Syndrome sllsls [(MeslH v
2 | Alzheimer's Syndrome WESLOHR [UeSIH
3 | Alcohol Syndrome vilesleld [MesSIH
4 | Bar Syndrome W12 [YeSIH
Q.9 What is the theory of emotion that demonstrates this kind of statement, 'l am happy because | am
laughing'?
'$ Wol © SIRQLS ¢ sl el ©' wL UsIReAl did UelRld 5] 241d2L <] 54 Riggid B2
Question ID:
Marks 1 10104807
No Options Details Correct Option
1 | Cannon - Bard Seiet - GLS
2 | James-Lang %Ry - €| v
3 | Schachter-Singer llweR - [Ha1R
4 | Rogers R
Q.10 What kind of stimulus is a stimulus that can produce a response in an animal without any training?
% Gelus S16 dldlH adtr o Wil uldlsat Gaust 531 21 da 34 Gelus 5& 87
Question ID:
Marks 1 10104808
No Options Details Correct Option
1 | Classical stimulus LB Belus
2 | Instrumental stimulus Al lHSs Gelus
3 | Conditional stimulus v [ud Belus
4 | Un-Conditional stimulus wei-ui (Y [dd Belus v
Q.11 Which of the following types of memory has the shortest memory span?
o1 AetHief] 58 W[dell Alell 251 ¥l (AR Sl B?
Question ID:
Marks 1 10104809
No Options Details Correct Option
1 | Temporary memory SIHAE(G ¥[d
2 | Episode memory uldaLs ¥ld
3 | Sensory memory AldelAs ¥[d v
4 | Short-term memory 2slllell ¥ [d




Q.12

Which theory believes that 'every person has the power to find and determine their own path in life'?

¢35 U (ScAHi Uldlell doteil HIoL 2lltdlsfl 2 w58 s2clefl 2[5 U3l % &' dd ) dle HiA B?

Question ID:
Marks 1 10104810
No Options Details Correct Option
1 | Psychoanalysis Yeil[dsdNBldle
2 | Gestalt yHEldle
3 | Behaviourism ddeidle
4 | Humanitarian Hleddldlel v

Q.13 If a person is good-looking but is also evaluated as honest, intelligent, or kind, what kind of error in
evaluation is said to have occurred?
518 s 2IAS] B dl def YRUisel UHLRLS, SlRIAIR, HIALY) dL5 Ul salHi 41d dl Yediseiui sl usl
Question ID:
Marks 1 10104811
No Options Details Correct Option
1 | Generosity error GeRdlell &4
2 | Closeness error [e1sedleil &
3 | Hello effect Salesse v
4 | Guess-who effect WejHlod-518L 8§52
Q.14 Who coined the concept of Shaping of behaviour'?
[ 215 [WS[AUR' (dActel E1ScIR) of) Luld S8 BRI B?
Question ID:
Marks 1 10104812
No Options Details Correct Option
1 | Watson qledst
2 | Skinner (512 v
3 | Rogers R
4 | Maslow Hal
Q.15 What principle does the super ego act according to?
YU 691 sUL Rtegida Hejatella ad 82
Question ID:
Marks 1 10104813
No Options Details Correct Option
1 | Happiness Ju
2 | Sadness &l
3 | Conscience [ads v
4 | Reality dldlasdl




Q.16 What does Rogers call 'everyone lives in a subjective reality'?

¢35 5 wlcHae]l diRdldsdiHi a 8 A AwY 9 58 8?2

Question ID:
Marks 1 10104814
No Options Details Correct Option
1 | Self-Reality des Rylleel
2 | Psychological Self Field AlYslalw)sa Aes [§65
3 | Phenomenological Field [sellUellel) sd (565 v
4 | Phi-Phenomenon §19 §letlH et
Q.17 What is the transmission of chemical messages between two neurons called?
A AdI5IN) A2 Yl AULU(CLS R2ULeAl d&elal 9 5&dIMi 241d B?
Question ID:
Marks 1 10104815
No Options Details Correct Option
1 | Myelin HlUE]ed
2 | junction R CROIE
3 | neurotransmission Ad WA RGL v
4 | zero potential QLedl [deid

Q.18 Goleman shows that
type of intelligence.

alanel £21ld 8 3 oflest wed UsiRedl uffeg, sddi

intelligence is more effective in achieving success in life than any other

(e, et UsNdL Nl HIS dY MUSRS ¢

Question ID:
Marks 1 10104816
No Options Details Correct Option
1 | Analytical [AsdNRILHS
2 | Creative USllHS
3 | Emotional WLAILLHS o
4 | Applied dellRs




Q.19 Subjective Wellbeing (SWB) is defined and measured by

U [&cldld YwLsIl (SWB) GRLAUALRIA A HIud M 419 B

Question ID:
Marks 1 10104817
No Options Details Correct Option
1 | Life satisfaction and positive affect. Xt UdIN Vol SSIRAHS WUR.
2 | Life satisfaction, positive affect, and negative =~ %)del UdlN, SSIAMS WU ¥ ASIRAHS WAUR. v
affect.
3 | Happiness and health. YUl el AU,
4 | Personal expression and happiness. Y [Scldld A [He [sd A4 Well.
Q.20 What is the average score on a test of a representative sample called?
SIS WAl [Ee (Aelell 5121 Ureil YRAA ULHISA g 58 B?
Question ID:
Marks 1 10104818
No Options Details Correct Option
1 | Validity EITORT
2 | Reliability CERTEIDET
3 | Norms TETE) v
4 | Homogeneity UH=UdL

Q.21 What type of undertaking is considered a surprise test conducted in schools and colleges?
UL0-518% Ui Qald] AULEH 222 UL USIReLl GUSH dARLIY?
Question ID:
Marks 1 10104819
No Options Details Correct Option
1 | Fixed time-based [dd qHee]
2 | Variable time-based ldd YHYE&l v
3 | Fixed ratio-based (o1 JRlldeell
4 | Variable ratio-based Yldd JRlldaeil
Q.22 What is the focus of personality in the Upanishads?
Gulaneli csdcds] Seg(olg, o) B?
Question ID:
Marks 1 10104820
No Options Details Correct Option
1 | Self d
2 | Man Yy
3 | Cover WAL
4 | Soul BdlcHl v




Q.23 What can be said about a new baby being born in the house and an older child starting to suck their thumb

or wet the bed?

ERUI odl M0 Sl e Udi HIE WIS w6l Yl Hid 5 ualR] udld dq g) s¢l asIy?

Question ID:
Marks 1 10104821
No Options Details Correct Option
1 | Projection VRLE]
2 | Denial BalslR
3 | Regression yledse v
4 | Transference X ldR
Q.24 The process that initiates, directs, and sustains behavior to satisfy our physical and psychological needs is
called........

WU LR S W HAlASIL[AS % eRULANA AUclNell HISedl cdeiell UIReL $611R (€211 1IUaAR A 251 U

Question ID:
Marks 1 10104822
No Options Details Correct Option
1 | Motivation UKL v
2 | Aversion 1SR4
3 | emotion {(1dI]
4 | Arousal G-l
Q.25 Which of the following strategies does not guarantee a specific solution to the problem?
ol Aet el 58 cysUell AHRUL Geofl ALSSU WLdT] A ud] el ?
Question ID:
Marks 1 10104823
No Options Details Correct Option
1 | Heuristic &lRes v
2 | Algorithm WG] [Ruy
3 | Trial and Error el e ¢d
4 | Precognition Ydsile




Q.26

Who said that if you want to understand a person, learn their ‘History of reinforcement’?

A 519 58] 3, culscel AHC] €Y dl defl Unidet Sldsi’ sll?

Question ID:
Marks 1 10104824
No Options Details Correct Option
1 | Pavlov ylddld
2 | Watson qledst
3 | Kohler slseR
4 | Skinner EXTE) v
Q.27 Which of the following tends to be a stronger predictor of intergroup discrimination?
oAt Ml 53 Widge Ae@lde] Ay Houuld Wil 52 B7?
Question ID:
Marks 1 10104825
No Options Details Correct Option
1 | Stereotyping x[@3dAddl
2 | Emotional prejudice MldellcHs YdAus v
3 | Attitudes a4l
4 | Behaviour ddel
Q.28 What is an illusion?
GH ued ?
Question ID:
Marks 1 10104826
No Options Details Correct Option
1 | Thatis, anillusion of something that v]ed s1OS ol el LAl d
2 | remains only in the brain cells of the observer &5t %=1l HRdADdS SINIHL S &ld &
3 | Afalse realization of a true stimulus AL Geluse Wig ucietlsel v
4 | Has a direct connection with the reality of the ~ G&luseil dlxdladsdl vle Hlul Yus uAd &
stimulus
Q.29 Ebbinghaus's forgetting curve shows when forgetting occurs most rapidly:
A [Gi1E1UA [Aayldell d5 e2lld B 3 [ AR »suell ald 87
Question ID:
Marks 1 10104827
No Options Details Correct Option
1 | Immediately after learning (218181 LA U] dd v
2 | After an hour of learning (2L&1Qle1l 1S SELS e
3 | After a week WS AEAL[SUL wle
4 | After a few months of learning (2181811 ALSL Hlell Ul




Q.30 Which of the following conceptual series is correct in the motivational process?

VRQUHS UlsAIHI oAt 1H el 56 dscust]l Q0 ARl 82

Question ID:
Marks 1 10104828
No Options Details Correct Option
1 | Reinforcement - Need - Response U Ged - el - Uldsl
2 | Need - Aversion - Response w2l - O - Uld[sUl v
3 | Aversion - Response - Need 9L - U[d[siUl - we[ALd
4 | Response - Aversion - Need Uldlsdl - 901 - AxRYLd
Q.31 are beliefs about what members of group are like.
A ogelst | 1A Bl 1Y B A Ne{] HiidA] B,
Question ID:
Marks 1 10104829
No Options Details Correct Option
1 | Outgroup WelR g v
2 | Stereotype w[@dAd
3 | Discrimination Meeld
4 | Prejudice Yydue
Q.32 If the results of testing the null hypothesis are non-significant, you will.....
9lod GeseUstlof] UsIARNUIL %) URBIM) (Ghot-12ls 1Y d) dA Q= Ges&Ustl a........
Question ID:
Marks 1 10104830
No Options Details Correct Option
1 | accept xdlslell v
2 | reject EEE
3 | cancel STACEEN
4 | revise the null hypothesis dlall sell
Q.33 According to Spearman, the combination of 'specific strengths' means?
AUt | Ha (AR A5 o Hloset 224 ?
Question ID:
Marks 1 10104831
No Options Details Correct Option
1 | S component uY €es v
2 | G component ) eles
3 | P component Ul eges
4 | | component WY ees




Q.34 What does research indicate regarding the role of gender difference in predicting helping?
Hetodl WILLEL 5AIM (1 dsladefl ML 213 it ) yud B?
Question ID:
Marks 1 10104832
No Options Details Correct Option
1 | gender is unrelated to helping [@ol Hee sl UL Holltd =12l
2 | males are more helpful than females Y2y | F[l 5dl dy HeeeU 8
3 | females are more helpful than males B YN Sl dy HeeeU &
4 | gender difference interacts with the situation  [€2l d§ldd UR[RU[d 118 [sUluU[dlsdl 52 & ./
Q.35 Andel Tulving conceptualized two types of memory, namely:
W3 2d[dd A uslRe(l W [deil seusil 531, d 8:
Question ID:
Marks 1 10104833
No Options Details Correct Option
1 | STMand LTM WY.2LWH. vel Ad.elnH.
2 | Visual and auditory memory G Wl 8l W[d
3 | Episcopal memory and semantic memory ULALS Wl el 14 [aNUs 3 [d v
4 | Flashbulb memory and declarative memory AL, W [d ¥l WL ¥ [d
Q.36 Which of the following is not a personality?
ol Aet1H el culscled Q) sell?
Question ID:
Marks 1 10104834
No Options Details Correct Option
1 | Psycho-physiological system Hetl-QLRIRS dA
2 | Dynamic organization ARLHS U3l
3 | System that is not affected by the environment dldldRRlei] WY = UIHe112 d3 System that is ne v
4 | System that adapts to the environment dldldQL A1 HH A% Al dA




Q.37 dissociative identity disorder often begins...

[SUR[N ) w183(22) [FuuSR 4RldlR 20 U .

Question ID:
Marks 1 10104835
No Options Details Correct Option
1 | as a result of combat exhaustion. 4SI9ell Lsell U[RQLIH.
2 | in adulthood as a response to unremitting YudldR ML A [dd slledledl Uldeild drls.
phobias.
3 | as a consequence of post-traumatic stress Ule-2lH[es U [sUMISRe L uRelH
disorders.
4 | in childhood as a result of unbearable GLLOURIHL UL el U[RELH. v
experiences.
Q.38 Who receives messages or signals from other neurons?
e AdIsINHe] Hlddl AR S5 Uddla sl Al B2
Question ID:
Marks 1 10104836
No Options Details Correct Option
1 | Axon Weldg
2 | Brain fibers (microfibers) [2Lulldgl (dgdgdl) v
3 | Cell nucleus 5N Sot,
4 | Buttons ey
Q.39 What is the basis of One-Way Classification ANOVA?
del d setl(U[s32et Aellal etl WIHIR <15 Ul B2
Question ID:
Marks 1 10104837
No Options Details Correct Option
1 | Number of samples [c1eQledl Yuyl
2 | Number of dependent variables W LRA URdciled] vul
3 | Number of independent variables ddA YRl yull v
4 | Significance of difference dslddeil vlelsdl




Q.40 Our tendency to see an object in its original size, shape, color, or brightness despite viewing it from
different angles, distances, and lighting conditions is.......

ddal el el Wl el - el wdR el Usioleil URRU(AHI %l 9di dal Yo 5¢, wISIR, 31 5 G

Question ID:
Marks 1 10104838
No Options Details Correct Option
1 | Collapsing Ay [esM1
2 | Realized continuity UL lsd Uldl v
3 | Concentration US55
4 | lllusion (TR
Q.41 What type of phenomenon is the motion seen in movies or TV called?
YARIA S ZLol Ui 2 oUld 2udld 8 dal sUl UslRedl gl 5& 872
Question ID:
Marks 1 10104839
No Options Details Correct Option
1 | Real motion dlRdlds alld
2 | Stroboscopic motion Rlulsluls alld v
3 | lllusion of motion U921 [cd ALY
4 | Projected motion Ulwses dlld
Q.42 The tendency to see what is real, rather than what someone says, is...
516 Q] 5& B dell »ed e5l5d Q) B, A Hldleil gld Aeq......
Question ID:
Marks 1 10104840
No Options Details Correct Option
1 | Pure attitude 2leq A4l
2 | True attitude AUy 44l
3 | Impurity attitude e FIACTCEIE]
4 | Scientific attitude dstil-is aqwl v
Q.43 What does the word schizophrenia mean?
R3] 2ot 4el 9 alu?
Question ID:
Marks 1 10104841
No Options Details Correct Option
1 | A split between thought and feeling. (AR 2o |121R1] o] [ [9Fe1. v
2 | Having more than one personality. US Sl dy [Sdcd bldd,
3 | The same thing as dissociative reaction. [Aulogetlcds Uldsl osdl % dxq
4 | The person is crazy. SN ESRETCE]




Q.44 According to Jean Piaget, during which stage do children develop the ability to think logically and solve
problems.

et (U WAUIR, 5UL d6iSSL MU WIASHL dLES A [AuRAleA] 24 B3 isl &Mdl [AsRid °1d &

Question ID:
Marks 1 10104842
No Options Details Correct Option
1 | Sensory-causal stage Hldeles - 518 dulss)
2 | Preoperational stage Yd [SULHS doissl
3 | crete operational stage Yd [$ALHS dulss]
4 | Abstract operational stage WHd [SULHS doissl v
Q.45 According to Kerlinger, which of the following variables is a pre-existing cause?
$A21Re11 Hd oA 1R o1 Aet1Miel]l 53 uRd] s ydsleud 51231 82
Question ID:
Marks 1 10104843
No Options Details Correct Option
1 | Independent ddA v
2 | Dependent B HL[Rd
3 | Controlled [ [AAcl
4 | Intermediate Heddl
Q.46 Who is the lie detector used on?
q1E(Se52R AAell GUANIL Slotl UR SAAIMi 241d B7?
Question ID:
Marks 1 10104844
No Options Details Correct Option
1 | Extraordinary person WYL R Y [Sd
2 | Suspected criminal ASIAUE LR v
3 | Leaders BN
4 | Mentally retarded children Heo e, ol ollasl
Q.47 What types of independent variables are used in correlational research?
AsAoltldH S AA AU 5UL USIRe11 2ddA URAITAl GUANDL 5] w41d B?
Question ID:
Marks 1 10104845
No Options Details Correct Option
1 | Type-C 219u-Al
2 | Type-S 2lOU-uY v
3 | Type-E 2lOU-6
4 | Type-Zero 21OU-2IR1




Q.48 Psychological assessment is essentially a measurement of

HelldsiLlels YISt A eSlsdHi o HlUst B
Question ID:
Marks 1 10104846
No Options Details Correct Option
1 | Psychophysics Heilefl[dsella
2 | Intelligence ofleq
3 | Situation YRRld
4 | Individual differences e[ scldld [M3idl v
Q.49 Which of the following techniques would you use to control the learning effect and fatigue effect that arise
during an experiment?
UL e (MLt GLe{l el MEULH WU U ULs wWHRe [ [Ad sal U2 1At il 56 25ell 5ol GUlL 5
Question ID:
Marks 1 10104847
No Options Details Correct Option
1 | Randomization Yle 69501
2 | Elimination [ddlue
3 | balance HHgdel
4 | Counterbalancing UlddHdE- v
Q.50 What is the learned or innate ability to acquire knowledge or skills in different fields called?
[cl(Giat Q=i silel 3 Sl21ed UM sdllefl Vel 3 goiostd A5 2f 5& B?
Question ID:
Marks 1 10104848
No Options Details Correct Option
1 | Aptitude vy
2 | Attitude HolldqRl
3 | Aptitude WAL v
4 | Creativity A lH S5l
Q.51 In psychological and educational research, only is used.
UolAstilels dell Qeildls AN ueui UH R o) o GUAIL s H] A1d B.
Question ID:
Marks 1 10104849
No Options Details Correct Option
1 | Composition Y|
2 | Unlimited WURMA
3 | Design [SaHLeel
4 | Limited UR(Hd v




Q.52 What can be called when information is collected to know the characteristics or characteristics of each unit
or member of any group, community or society as a whole?

SIOURL AHS UL S UM YR AH Bl UAS A sHL S Hellell S16 [l il 3 (AN ostaldl HI2

Question ID:
Marks 1 10104850
No Options Details Correct Option
1 | Census method A2LRLed L Ueg[d v
2 | Sampling method [«1&.2lel Ugg(d
3 | Controlled method [« [~ Uegld
4 | Non-parametric method VUG Ueg[d
Q.53 In which type of problem is the trait or characteristic equally distributed?
SULUSIRAl HHRAML G&18L 5 (ANl UMl ld adudd] 8.
Question ID:
Marks 1 10104851
No Options Details Correct Option
1 | Heterosexual population [aNH ool qH[®
2 | Homosexual population AU L YH [ v
3 | Real population dlxdlds yule
4 | Imaginative population GSsAUeilcHS HH[¥
Q.54 What are the mean, median, mode and standard deviation of a population called in statistical language?
YU (Bl Heds, HedRel, 6leds W UHIQL [dudatal 4[5S HINIMI Q) s&diHiw1d B.
Question ID:
Marks 1 10104852
No Options Details Correct Option
1 | parameter BIRc] v
2 | Countable W IBLS
3 | Sampling [1e.Qlel
4 | Population {H (¥




Q.55 Which of the following types of research studies independent and dependent variables in a pure and

unmixed situation?

o1 Aot 14 i8]l sUL USIR-L AR HeAHT 2ot 1o W18 IRd Uil A5 Y, WA MAM B URR&UAH] 446

Question ID:
Marks 1 10104853
No Options Details Correct Option
1 | Correlational research AcHuHIHS Yllde
2 | Observational research [2&R1HS Hllde
3 | Laboratory experiment [T EIGIRVENE] v
4 | Field experiment RERENE]
Q.56 What is the method of selecting a fixed percentage of units from a group according to a predetermined
plan called?

yd (AulRd Aogetl MU W5 uysH el (FARld esiailstl 1 sHlsfl uiedlell uee(da 9f s&ciui w419 872

Question ID:
Marks 1 10104854
No Options Details Correct Option
1 | Statistics BLSSIRLLA
2 | Population HH[¥
3 | Sampling [1eQlet v
4 | Numerology Hw|| 2llA
Q.57 Which of the following steps of experimental design is incorrect?
o{1Q A10E (clg2lel (S8etetl AU Lol Hi 1401 AUt 5Y B,
Question ID:
Marks 1 10104855
No Options Details Correct Option
1 | To define the objectives of the study WYL gl AWl Sdl
2 | To define the population UH[® vy [Ud s:d
3 | Tolist the sources dld YU
4 | To determine the units of observation [ele.2let B SHIoA W[ei[%ld Sl v




Q.58 Find the inappropriate feature among the following characteristics of a good sample design.
o1 w4 AIR] (el (S318elell detQlHi WAY deial 2MH] s1a).
Question ID:
Marks 1 10104856
No Options Details Correct Option
1 | Representativeness Uld[ei[teU ey
2 | Appropriate number of study units GRId YuAHL ALY AU
3 | Unequal probability of selection of units v sH|ell UYe Ad el WUl YeHldeil v
4 | The sample should be free from bias. [eQlet uet vl Ysd sld oslou.
Q.59 How far is the value of significance in social studies?
UMHLCss AU Hlelsdl of Yt suiell sui Yl AwaHi w11d B,
Question ID:
Marks 1 10104857
No Options Details Correct Option
1 ] 0.14l05 0.1t00.5
2 | 0.54l0.1 0.5t0 0.1
3 | 1.004l5.00 1.00 to 5.00
4 | 0.014l0.05 0.01t0 0.05 v
Q.60 What can be called if the results are similar even though the same test is taken repeatedly?
Aseil W 5A1E] dRAR QaIHi Alddl Odi URQIH qHIeAdl 1AL HA B dl del Q] s&l ASIA.
Question ID:
Marks 1 10104858
No Options Details Correct Option
1 | Meaningfulness Ul sdl
2 | Standard Hlslls
3 | Reliability [asd bt AL v
4 | Validity Al
Q.61 Which of the following limitations of sampling is inappropriate?
o1 w4 [Aeletsfl HulelpHl 58 Hulel WAY B,
Question ID:
Marks 1 10104859
No Options Details Correct Option
1 | Possibility of unbiased sampling yeiyldldele [«leQlell Aeilaeil v
2 | Need for specific qualifications [a[® ALY L] e [RY1d
3 | Lack of accurate knowledge of the past VIE Holt] 4l Stlelel] A6l
4 | Instability of sampling units (6.l v sHlell A [RUAL




Q.62 incorrect type among the following types of probability sampling.

detlcetl (AeQietetl o1l W1AE USIRAHT 140194 UsI2 k).

Question ID:
Marks 1 10104860
No Options Details Correct Option
1 | Cluster random sampling RHULL YRS [16Q]e
2 | Simple random sampling AULg AL [1€Qled
3 | Stranded random sampling AR5 YR [16Qled
4 | Equal random sampling UH Lol A9 [o1Qlet v
Q.63 What is called a sample in which the probability of the members of a population being included in the
sample can be determined?
UL AU (Betl AeRef] (el udel uiHdlefl detldeil [s1Ed 53] s S da 9f 51 2slU?
Question ID:
Marks 1 10104861
No Options Details Correct Option
1 | Probability sampling Aeldeil [4eQled v
2 | Non-probability sampling (0ol Yeildell [1eQlet
3 | Probability population Ae{ldel HH[¥
4 | Non-probability population (0ol YeHldetl YH[R
Q.64 Which method is suitable and simple when a large number of units have to be selected from the entire
universe?
oR( 13 UHA Yeuiell {121 v W sHlol uiedfl sdleil €1 AR 58 Usg(d ALY el Y01 & B.
Question ID:
Marks 1 10104862
No Options Details Correct Option
1 | Lottery method dlel uggld
2 | Drum wheel method SH US Uegld
3 | Tippett random numbers 2lue yey yud Ll v
4 | Independent method ¥ddA Uegld




Q.65 The random numbers of Tippett were invented by which famous statistician?

Zl0es{] ey vl sUL URIeG Hissial gl AU lEd s 11d] 8.

Question ID:
Marks 1 10104863
No Options Details Correct Option
1 | L.H.V. Tippet vld.u{y.dl. [eUe
2 | L.H.C. Tippet e AL [2Ue v
3 | L.R.Tippet uq AR [eUe
4 | L.M. Tippet 216 04, [2Ue
Q.66 What is the inconsistent advantage of a simple random sampling method?
AULE U9 [eleelet Ueg(dHi 42001 dlel sU) B?
Question ID:
Marks 1 10104864
No Options Details Correct Option
1 | Theoretically representative Aegllds Ad Uld[ed [ty
2 | Asimple and easy method V]S U0 ¥l YIIH Usggld
3 | Saving work and money Y el o8] A
4 | Unlike the characteristics of the population U [¥eil q@rlled] [duRld Unlike the characterist v
Q.67 What is it called when a researcher selects a sample based on a specific feature or level of the
population?
Aetel Scll UHRetl Wi [AANAL Y 2cdRell A1H R (462l Uie 53 D dl A4 g 5& B?
Question ID:
Marks 1 10104865
No Options Details Correct Option
1 | Symmetrical stratified random population AUHLIRL dR[Ssd ey Hu [
2 | Disproportionate stratified random population  HUUHIRL xd|Sd A& YH [
3 | Symmetrical stratified random sampling AUHLCL RS UeRE [e16Qled v
4 | Disproportionate stratified random sampling ~ H{UUHLIRL xd[S5d A9 [1£Qlel




Q.68 Students are asked questions while standing in front of the college gates. What type of sampling is called?

S\aoel ed(o w1201 Gletl ] el AR edi (daieflalsl usl ygdiHi 4141d 8. w1 usietl (el g 5

Question ID:

Marks 1 10104866
No Options Details Correct Option

1 | Accidental sampling w5[HS [1eLled v

2 | Purposeful sampling EquRlell [eQled

3 | Methodical sampling Used [dURef [cleled

4 | Convenient sampling Jldulq AR (el

Q.69 Which is the inconsistent type of observation?

(3181011 USIRHIT WU2Ad USR s B2
Question ID:

Marks 1 10104867

No Options Details Correct Option

1 | Uncontrolled observation W[ [Ad []&18l

2 | Group observation AlH[ss [1ea1

3 | Controlled observation [AA[Ad [2]&11

4 | Semi- observation wy [2]e1Ql v

Q.70 What are the limitations of uncontrolled observation?

B[ (AT e18etl Hule U] 02d 58 B?
Question ID:

Marks 1 10104868
No Options Details Correct Option
1 | The effect of bias Ydsel AU

2 | Reliance on the senses Stlelfogdl U A 1HIR

3 | The occurrence is not repeated tleellof Yellcdel e =12l

4 | Naturalness in the behaviour of the study units MY ¥ SHlell ddeiH] 2dIM L[Sl v




Q.71 In which observation is the study of the mutual relationship of units that merge into a tribal group?
U Lled 1] AHEHI Mol oA W5HeAl URWRS il 16U 5L [AZ1QH] s w19 87
Question ID:
Marks 1 10104869
No Options Details Correct Option
1 | Participatory observation ASH L] (AL v
2 | Attentive observation Uds ([l
3 | Semi-participatory observation e e[l [l
4 | Non-participatory observation WAL ([l
Q.72 Which technique does the work of bringing out the imaginations, emotions and instinctive feelings of a
person and presenting them in a form?
Boll HIedH GIR1 5t W&IR @ld] cSscell Helellal dell «lles e Mldla elelR dld] 2deUm | 9 57
Question ID:
Marks 1 10104870
No Options Details Correct Option
1 | Interview method HElsld Uegld
2 | Questionnaire method yalladl uegld
3 | Projection method UaURL Ueg[d v
4 | Observation method (12|88l Ueg[d
Q.73 What is the type of interview method based on the purpose?
GRUell W18 R Yallsld Ueg[dsil USIR 54l 87
Question ID:
Marks 1 10104871
No Options Details Correct Option
1 | Therapeutic interview GUYRIHS Ydlsld v
2 | Focused interview Segld HALSId
3 | Structured interview AUl Ydlsld
4 | Unstructured interview WRY[d H4lsld
Q.74 What is the inconsistent advantage of the observation method?
[1Zle18l Ueg [doll dleMi HA2d @18 5] 8?2
Question ID:
Marks 1 10104872
No Options Details Correct Option
1 | Simple and elementary method A 3o WIL[HS Ueg[d
2 | Precise and unreliable method UL55Y Wel [l e[y Ueg[d v
3 | Ease of verification YSIYQLleAl Ha1aSdl
4 | Useful in formulating hypotheses Gs®sileil UAIHL GUULL]




Q.75 In which method does the researcher want to get direct answers from the respondent by asking questions
about information related to his study problem?

56 Ugg(d Hi Grreldl ulAell A0us Uldlell 246141 AHRUL A @2Ldl Hiledl 203 ushl Yyl ucigl Gul Aag

Question ID:

Marks 1 10104873
No Options Details Correct Option
1 | Interview method HalSld Uegld v

2 | Questionnaire method ygllddl usgld

3 | Projection method yeluel Uegld

4 | Observation method (1218181 Ueg[d

Q.76 is a systematic and systematic process of analysing and synthesizing scientific methods.

(M ole, cudReld d Asilles Ueg(dell Yee sl sl el el ulsul 9.
Question ID:

Marks 1 10104874

No Options Details Correct Option
1 | Planning B[]l

2 | Research P ENCE v

3 | Control ERETE]

4 | Problem HHKYL

Q.77 Which of the following statement is correct?

o[ Qe 11 il 53y (Atilel 113 B?
Question ID:
Marks 10104875
No Options Details Correct Option

1 | Reliability ensures the validity

[Asdetlcl yeuleldl Ylodlsld 52 8

2 | Validity ensures reliability

A Udl [dsddelddl Yli[sdd 52 .

3 | Reliability and validity are independent of each [d&lYeilUdl W=l Yl W56 |on1] xadA 8.

other

4 | Reliability does not depend on objectivity

[Asddelddl &g UR AL LRd <1l




Q.78 Which correlation coefficient best explains the relationship between creativity and intelligence?

Ut LH AL 2 ffegHril Aol Aoita AB I sUL YA RIS Gl AHd] 2USIA B?

Question ID:
Marks 1 10104876
No Options Details Correct Option
1 1 1 v
2 (0 0
3 | -0.75 -0.75
4 |08 0.8
Q.79 The research which is exploring new facts through the study of the past is called
HASL0AL ALY GIRL eldll delo] WeANRL Sl AQlboda.....
Question ID:
Marks 1 10104877
No Options Details Correct Option
1 | Philosophical research elRl[e1s ULlltet
2 | Historical research v[dellys dellued v
3 | Mythological research UlLlRLs yelluel
4 | Content analysis AHAL [aNLl
Q.80 A null hypothesis is
Qo Gl ¥ & wd I
Question ID:
Marks 1 10104878
No Options Details Correct Option
1 | the same as research hypothesis H2llte GcsUail %] %
2 | when there is no difference between the o1 Yl A SlY dsldd o el v
variables
3 | subjective in nature c[sddell usldeil
4 | when there is difference between the variables %112 UGl AR d§ldd Sy




Q.81 Type-l Error occurs if

USIR-1 A AR 1Y B RIR...

Question ID:
Marks 1 10104879
No Options Details Correct Option
1 | The null hypothesis is rejected even though it 2Jedl BcSEUeL UL Sldl 9dl «1sR] sledlHl Alc v
is true
2 | The null hypothesis is accepted even though it el BcsEUell W12l sldl 89dl lSsRAIHL w1d &
is false
3 | Both the null hypothesis as well as alternative  2Je Bc5&Uell ¥l d5[EUS G5@Ueil 0ol wASIR] S1
hypothesis are rejected
4 | None of the above GURLsdHLl 519 <&l
Q82 is a way to systematically solve the research problem
............ ¥ 22M\tel AHRUIA cAdRed Id G3adiedl As Uil B
Question ID:
Marks 1 10104880
No Options Details Correct Option
1 | Technique 2sleis
2 | Operations SIHILR L
3 | Research methodology dllded Uegld v
4 | Research Process el Ulsl
Q.83 What are the core elements of a Research Process?
At UlsUledl Yu g2 9 87
Question ID:
Marks 1 10104881
No Options Details Correct Option
1 | Introduction; Data Collection; Data Analysis;  URUY; Sel AAS; Sel [dNBL; [+AdSY wfe HE[H)!
Conclusions and Recommendations
2 | Executive Summary; Literature Review; Data  SIASIR| AR1LL; Alle UHI&L; vis[Ad Sel; [«1ds
Gathered; Conclusions; Bibliography
3 | Research Plan; Research Data; Analysis; ALUluat Alwetl; YLllbel Sel; [dsdNrl; Yl
References
4 | Introduction; Literature Review; Research URUY; ALl dHletl; vetlted Uegld; URELHL; v

Methodology; Results; Discussions and
Conclusions




Q.84 Which correlation is the strongest?

S| Ysoiy Alel]l Hoyuyd B?

Question ID:
Marks 1 10104882
No Options Details Correct Option
1 | -1.00 9.00 v
2 | 80 80
3 | -60 -%o
4 |5 5
Q.85 A positive correlation occurs when:
USRAMS YsHold AR 414 D
Question ID:
Marks 1 10104883
No Options Details Correct Option
1 | Two variables remain constant ol Yl R e 9.
2 | Two variables move in the same direction o] Yl WS o (AL w1201 dY 8. v
3 | One variable goes up and the other goes WS UG GUR 1A 8 e W[on] o[ 1Yy 8.
down
4 | . Two variables move in opposite directions o] Yell [deg [eQLHL A1 dY &,
Q.86 In an experiment, the group that does not receive the intervention is called:
YA, B el SAAU UIH d) o1l dal s&didi 2419 8:
Question ID:
Marks 1 10104884
No Options Details Correct Option
1 | The experimental group UIRIL[ILS g
2 | The participant group USHLIL|
3 | The control group (1AL el v
4 | The treatment group AR R ¥




Q.87

Which of the following statement are true?

ol Aet el 53 (atilel AR| B?

Question ID:
Marks 1 10104885
No Options Details Correct Option
1 | The larger the sample size, the larger the o{Hello] 5¢ %2q HIZ ©Ql, WiH[A& I HdIE de
confidence interval
2 | The smaller the sample size, the greaterthe  =l¥elle] 5¢ %29 cllef SQl, ciYellell ¢jd w26l Hlel v
sampling error
3 | . The more categories being measured, the %26l dy] QL] HIUAHL 1L, eiHelle] 5¢ de!
smaller the sample size
4 | A confidence level of 95 percent is always 95 25le] WIcH [l ¥ SHll Yd &
sufficient
Q.88 Which of the following will produce the least sampling error?
o1 Aot ief] 5] otifell Acilef]l Alefl 219 ojd 219)?
Question ID:
Marks 1 10104886
No Options Details Correct Option
1 | Alarge sample based on convenience Yldulgets el U ALHLRd Hlel eAHeil
sampling
2 | A small sample based on random sampling RoSH oiHel | UR W LHL[Rd elletl oAYell.
3 | Alarge snowball sample Ylel wtlodld oAyl
4 | Alarge sample based on random sampling RoSH elHel ] UR 3 HL[Rd Hlel «lyell. v
Q.89 Plagiarism can be avoided by:
AllsIR] 2luil 21s1d B:
Question ID:
Marks 1 10104887
No Options Details Correct Option
1 | Copying the work of others accurately oflonletl sleA] Ul «1s6 $2dl.
2 | Paraphrasing the author’s text in your own Quisetl QWIRLe dHIRL Uldlell QuelHL YHo¥ldd, v
words
3 | Cutand pasting from the Internet g2l URE| SslUled U 5,
4 | Quoting directly without revealing the source  3ild 1R S [deil Yl cdWL A Ud.




Q.90 What is the major attribute of Correlation Analysis?

AU (ANl Yo I8 ) B?

Question ID:
Marks 1 10104888
No Options Details Correct Option
1 | Association among variables Ud] 2 elsiel v
2 | Difference among variables Y IHL dsldd
3 | Regression among variables YEIHL (ALl
4 | Variations among variables YU [H3ldl
Q.91 In order to pursue the research, which of the following is priorly required?
deeled w1210 delRal HIR, «(lAeiHiell 58 uleMsdl %3] 872
Question ID:
Marks 1 10104889
No Options Details Correct Option
1 | Developing a research design H2llYel [SIeed [dsuladl,
2 | Formulating a research question R ENCERETERCIE v
3 | Deciding about the data analysis procedure  S2l [dsdNQL Ulsl [l [«1Q1 4.
4 | Formulating a research hypothesis Hlldet YduRBLL e1sdl.
Q.92 The conclusions/findings of which type of research cannot be generalized to other situations?
SULUSIReLL Aottt dREI/EAMSNIA W URRRU(ABMI €19 ULS] ASLdl «iefl?
Question ID:
Marks 1 10104890
No Options Details Correct Option
1 | Comparative Research ddellcds dellds
2 | Historical Research Uldells vLlldsd v
3 | Descriptive Research dRlellcHs HQllde
4 | Experimental Research ULRILLS vLlldst
Q.93 How to judge the depth of any research?
S16UL LM« GlsIE 3l J1d «ts8] 52¢l1?
Question ID:
Marks 1 10104891
No Options Details Correct Option
1 | By research title Hllde NS IR
2 | By research duration Helltel YHUINL0L GRRL
3 | By research objectives Hlldel Geul gL v
4 | By total expenditure on research HQlltel URell §6 WY IR




Q.94 Which one among the following variables cannot be expressed in quantitative terms?
oflAst 1] sA) UG HIALHS &[BA Usd 53] sl 1efl?
Question ID:

Marks 1 10104892
No Options Details Correct Option
1 Numerical Aptitude ALY LHS YL

2 | Marital Status dalles Relld

3 | Socio-economic Status AlHL[ws-v1Llels Rald

4 | Professional Attitude dYLUSs 94l v

Q.95 According to whom, a measurable characteristic of an object, event, or animal is called a variable?

Sletl 4 816 drd, geeil 3 uillett 1yl 2usid ddl dalla uRdel s& 872
Question ID:

Marks 1 10104893
No Options Details Correct Option

1 | Kerlinger 5AddR

2 | D’Amato slayel v

3 | Young 4|

4 | Hill led

Q.96 Which of the following is related to the limits of controlling external variables by the experimenter?

o1 et Ml 58 wliodd YISl glR1 Mgl URARIA [H(Ed 5qlef] 111 A18 s1Ad] B2
Question ID:

Marks 1 10104894

No Options Details Correct Option

1 | Internal validity WldRs uledl v

2 | External validity OLR A ledl

3 | Apparent validity eulldl A ledl

4 | Contemporaneous validity AUSsIE]o A dl

Q.97 In which of the following methods is an external variable removed from the experimental situation to
control external diffusion during an experiment?
ol Aot M ief] 58 Useg[AHi YA L2 (HAU Lot G416l YW [HA[Ed scl HIR Giled Uldcla WilB1s URRaldui
Question ID:
Marks 1 10104895
No Options Details Correct Option
1 | Balance HUddel
2 | Counterbalance Uldd et
3 | Stabilization (Rl
4 | Extinction [adluet v




Q.98 Which of the following advantages is more common in non-experimental research than in experimental
research?
WURNALS ANeAH] WRILOLS AL betell HWIHE(1A (1A Hiell ) @16l ay slal HA & 2
Question ID:
Marks 1 10104896
No Options Details Correct Option
1 | Randomization ULE[2£950L
2 | Internal validity WIdRs yYldl
3 | External validity U8l AY Ll v
4 | Control of the experimenter YUY ILSlef [AAARL
Q.99 What is the increase in the sense of purpose that results from a strong sense of participation called?
Aseofld sl ot etidetlefl ulosustl sdedui adl gl 2 s& 82
Question ID:
Marks 1 10104897
No Options Details Correct Option
1 | Control effect s2ld 9552
2 | Hawthorn effect &lelled 9552 v
3 | Hello effect &dl ©§52
4 | Experimental effect B sHURY2d 9552
Q.100 When is the use of a non-operational test appropriate for statistical inference when......
WYULEL 5A12]eAl AisSIARAY WajHlel HI GUAWL AR GRId B 2RR......
Question ID:
Marks 1 10104898
No Options Details Correct Option
1 | The data are normally distributed YLIHLS] UHUREL [ddBL UHIRL 1Y
2 | The data are non-normally distributed YIHLS] A -UHYREL [dUR]d sld v
3 | The mean and median values are the same HEY S wel HelRYef[ [SHAL s YU Sl
4 | The sample is representative of the population [c1€2l AH[¥e} Uld[1[tlcd 5cll eld




